% )
% n Negatiiviset eksponentit 10

Nimi: Pdivamadard: _ Pisteet: _
560,3 x 1071 = 2% 10 =
1009 = 1% 102 =
817,1+ 100D = 3% 100 =
611,6 x 1001 = 243.9+ 100" =
9x10= 3% 1002 =
475,3 x 100D = 1003 =
486,2 + 100 = 1002 =
415,1x 107 = 893,7 x 1004 =
800, 1+ 107" = 1004 =
1077 = 514,1+ 1009 =
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XeTad

Negatiiviset eksponentit 10

Nimi:
560,3 x 10" = 56.03
107 = 0.0001
817,1+ 107" =8171
611,6x 107" = 61.16
9 x 10 = 90
475,3 x 107 = 47.53
486,2 + 107 = 4862000
415,1x 107 = 0.4151
800, 1 + 10" = 8001

1000 = 0.1

Paivamaara: Pisteet: __
—2x10=-20
—1x 10> = -100

3% 107 = -0.003
243,9+ 107" = 2439
3% 107 = —0.03
107% = 0.001

1072 = 0.01

893,7 x 107 = 0.08937
107% = 0.0001

514, 1+ 107 = 514100
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